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1. Find the values of p for which px? = 2x — p, where p # 0, has equal real roots
ENERpx® =2x—pEER Bp #0, KpE

p=%1

2. The quadratic equation x2 + 2kx + (k — 1) (k — 3) = 0 has no real roots. Find the range of values of k
BT RTTERN® + 2kx + (k- D(k —3) = 0% FAEXR, Kk ASEE

k<-

3. Given one of the roots of the quadratic equation 3x? + 10x + k = 0is —1, find the value of k
EM—TR3x% + 10x + k = 0 YEFA—PMRE -1, K k(B

k=7

4. Given that one of the roots of the quadratic equation ax? + 9x + 2a = 0 (a # 0) is —4, find the other root
and the value of a

BHM—T X AERax?+9x+2a=0(a+0) EHF—RE -4, KB—MEfafE

TCLA



B BN SHERE
5. Given that @ and f8 are the roots of the equation 2x2 + 7x — 4 = 0 and a > B, find
a. a’+p?
b. a3+ p3
C. §+%
d a-—-p
EXaFfpRB—TLR2x*+7x—4=0191R, Ha>p K

a.a? + p?

b.a3+ B3

RIr

1
*3
-B

C.
da

64 511 7 9

—,b.——,c.—,d.-
R T
6. Given one of the roots of the equation 2x? — 9x — (2k — 3) = 0 is twice the other root. Find the value of k
and the roots of the equation

EM—IT=K2x* - 9x — 2k — 3) = O HF—RESB RO, Kk MR

k=-3 > 3
- I2I
7. If a and B are the two roots of the equation 3x? + 4x — 5 = 0, form the equation with the roots % and =

# afip RITRR 3x? +4x —5 = OMFIR, RIRRERY 7

5x2 —4x—-3=0

TCLA



B NS SELE

8. Find the values of m if the straight line y = m(x — 3) is a tangent to the curve y = x2 — 3x + 1

KmEBELARY = m(x —3) 2#%ky = x* - 3x + 119914

9. Show that the equation 2x? — 4x = 2x — 3 + px? has real roots if p > —1
BIERI2x? — 4x = 2x — 3 + px? HARED = —1

10. Show that equation (m + 3)x? — (m? — 8)x + (m — 3) = 0 has real root, for any real number of m and
m# —3

WIEATRER(n + 3)x* — (m? - 8)x + (m — 3) = 0 EAELIRE, WFEEALHm, Bm=+ -3

11. Form the equation with @, B as the positive roots of the equation, a? + % = 5—2, l1-a)A-p)= %

Ma, EA—BIER, Fap RIERC + 2 =2,(1 - )1 - f) = SHIETHAR

6x2 —7x+2=0
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12. Given that a is a root of the equation x? = x + 9, prove that a® = 10a + 9
EHMa HERx? = x + IR, HIEA ® = 10a +9

13. Given that a, § are roots of the equation x2 — 6x + 4 = 0, find the value of Va + \//?
Efla, B 2R — 6x + 4 = 0MR, RVa + /FHOE

14. The roots of the equation ax? + bx + c = 0are 2 + V2 and 2 -2, prove b = —2¢
EHERax® +bx +c =0 AR A2 + V22 - V2,iEBR b = —2¢

15. If the equation 3x2 + mx + 1 = 0 and 2x2 + nx + 1 = 0 has one common root, prove that 2m? + 3n? —
S5mn+1=0

EAERIXZ+mx+1=0f2x2+nx+1=0FAHXE, iEA2M2+3n>-5mn+1=0
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16. Find the minimum point
a. f(x)=2x%*+8x
b. f(x)=3x2—18x—5
KR/IME
c. f(x)=2x%*+8x
d f(x)=3x2—18x—-5

a.(=2,-8),b.(3,-32)

17. Given that f(x) = x2 —8x + 6 = (x + p)? + q, find the values of p,q, the minimum point of f(x) and state
the equation of the axis of symmetry

EHMf() =x*—8x+6=(x+p)*+q,fKpaq FTEAWME f(x) MNHRHETER

(4,-10),x = 4

18. Given that the extreme value of y = ax? + 4ax + 1is 5, find the value of a
HHERNy = ax® +4ax + 1I9IRER S5 Ka &
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